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I Who may write po»

a

b

A deaf mute (v7n), imbecile (701) or a minor (jop) may write a V)
i Challenge: they have no ny7
ii  Answer: if a competent adult is supervising them (23 % 1Y 5172)
iii ~ Challenge (7pr2 79): if so, a non-Jew should be able to write a V3 with a Y87’ supervising him
1 Note: we have an explicit ruling that if a non-Jew writes a v it is 9100
2 Answer (791 ”): he acts of his own accord, not according to the supervisor
iv  Self-correction: since a non-Jew is invalidated as an agent (see below), his writing must be valid
1 Note: the ruling that his writing a v3 renders it %108 — follows 8™ (*n72 77ON *TY); our MWN is N™
2 Tangent —1™: n™ permitted using a v found in the trash, as long as it was subsequently signed properly
(a) Challenge (8¥27):v.1 0% an3 > nnwy;
(i) Defense: refers to nnw5 nwnn
(b) Challenge (827): "any v written not for a particular woman is invalid" (x:3 nawn)
(i) Answer: refers to nnonn
(c) Challenge: "when he writes it, it is as if he wrote it nnw5"
(i) Supposed meaning: when he writes the 911, it is as if he wrote the o0 for her
(ii) Defense: rather, it means "when he has it signed nnwY, it is as if he wrote it nnw%"
(iii) Alternate response to all the challenges: these rulings reflect X"y and our nwn is n™
1. support: YRnw taught that in our mwn, the y"wn are valid if they leave the 41 (filled in by 1)
2. note: dispute as to how 13nv "3 read our mwn — following 8”1 or n™
A woman may write her own v) and a man may write his own receipt for the namn>
i Reason: the va only becomes effected by its signatories

II  2n mwn: everyone may be an agent to bring a v, except 1"wn, a blind man and a non-Jew

II v mwn: any of these who received the v) in that state and then overcame it (e.g. conversion) — invalid

a

however: if they started out acceptable, became temporarily invalid and then restored — valid
i note: impossible in case of 07012 T21Y
ii  rule: if the beginning (when they receive the v3) and end (when they hand it over) are mnpaa — valid
reason for exclusion of the blind:
i not: because he can't see who gave it to him; else, how can he be married (rather, he recognizes his wife by voice)
ii  rather: he can't bring a v from 5"n because he can't say 1”021 17021
1 challenge (»aN): if so, if he saw and then became blind — should be able to bring (but see [a] above — invalid)
2 block: that ruling (about the end-point being m w11) only applies to nv1w —
(a) proof: it uses the phrase n1ws — not minpa

IV Question asked of 'R '3; is an 72y a valid van mHw?

a
b

Answer: since the mwn invalidates a non-Jew = T2y must be valid
Dissent: 13m 1 regards an 71y as invalid, since he isn't within the personal framework of PPy o2
i Challenge (7rv5% *7): an T2y should be invalid as a °5w of any sort, following the nv77 of onX — DNR D3 (v.2)
ii  Defense: that only invalidates non-n»1a »a (i.e. n™3), not slaves (who are n»11 1)
iii ~Contradiction: 30V "1 admitted that, nonetheless, if a master tells his nnaw that she is still enslaved but her embryo is free
—itis valid
1 Explanation: even though an 72y cannot be a 9w for pwv1mp V7 (because "nna 1R..."), she can be a vehicle for
freeing the embryo, based on two principles:
(a) a7 freeing half a slave is a valid act and he is half free
(b) his reason: the embryo is a part of the mother (YaR 77 921) and it is as if he freed part of her
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